Operaciones con Nimeros Ternarios (I)

1112214(22;

11104
+ 102154

101154
X 203

102205
— 20203

21105
+ 21204

Calcule cada respuesta.

1102005203

12104

+ 21114

1102325

102215

— 11204

2112,

+ 21124

12024

— 10014

22003

X 213

122,

+ 12204

20125

X 123

110003

— 21214

222,
X 123

12025
+ 20025

10024
+ 21124

20123
— 10005

100105213
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Operaciones con Nimeros Ternarios (I) Respuestas

1112214(22;
1202,

11104
+ 102154

22015

101154
X 203

202205

102205
— 20203

12005

21105
+ 21204

120005

Calcule cada respuesta.

1102005203

20105

12104

+ 21114

1102154

1102325
2015

102215

— 11204

21014

2112,

+ 21124

120015

12024

— 10013

2015

22003
X 213

2002005

122,

+ 12204

21123

2012
X 123

1012214

110003

— 21214

11025

222,
X 123

11211,

12025
+ 20025

102115

10024
+ 21124

101215

20123
— 10005

1012

100105213
1104
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